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Q1)- complete the following {14 Marks}
a)- The resistive circuit has ............. power factor, because ............... . {2 Marks}
b)=iThe freqUeney s iva s Mo o vt s s s A B bl W SR s {2 Marks}
c)- Given that v(t)=30cos (377t — 60°) and i(t)= 5sin(377t +60 ), then the value
of element 0F ClEMENTS AIE e il dbinvs Dpenadtioens DECAUSE (Vi ihuai s AT {3 Marks}
d)- Two parallel impedances Z;=4 +j6 and Z,=2 —j3,then Yr= .ccvvvvvinniininnnne. (S). {3 Marks}
e)- Given i(t) =50sin(2r60t+20) A
. Then the frequency is .....ccouveeenen.... sthe Period 8is i ialiasiaii ,the average value 1s .............
and the effective value is ........ccoveerneeeneennes {4 Marks}

Q2)- For the system shown {12Marks}

pf=0

200 VAR(L)

1- Draw the power triangle {8 Marks} S00VA

100 20V

300VAR(L)
2- Determine the total current. {2 Marks}
3- Determine the total Py. {2 Marks}

. Q3)- in the circuit shown, {12 Marks} R
Given that: Pr= 0.6 lagging, 30
and the magnitude of Z1= 5£2. gy
a)- Determine the value of X, {4 Marks} =501V __ X
b)-Draw the impedance diagram_ {4 Marks} Xc
c¢)- Draw phasor diagram. {4 Marks} X

Q4)- Forthe circuit {12 Marks}
shown in the figure.

Z1=2+)2 , 72=2 (2,

Z3=-J2 and Z4=2 +J4

a)-Determine the value of Z for
maximum power to the Load. {5 Marks}

b)-Find Ppay. {7 Marks}
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